i 1

Had he been aware of the consequences, he __ such a reckless decision.
(a) would never make

(b) would never have made

(c) might never have made

(d) could never make

FiE 2

Ifshe_ the meeting yesterday, she might have been able to influence the outcome, which
would now be different.

(a) had attended

(b) attended

(c) has attended

(d) would have attended

i 3

Were it not for the ambiguity in the data, the researchers _ reached a definitive
conclusion by now.

(a) will have

(b) would have

(c) might have

(d) could have

M 4

Supposingwe _____ to abolish this policy, what alternative would you propose for addressing
the underlying issues?

(a) were

(b) had been

(c) are

(d) will be

& 5

If the satellite _ launched successfully, we would now be observing unprecedented levels
of climate data.

(a) had been

(b) was



(c) were

(d) would have been



